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Year 6 Assessment Exercise 10

Answer each of these. Show your working out.

1  a) 24 + 4 × 9 =  b) 3 × 9 + 64 ÷ 8 = 

    

 c) 88 + 54 ÷ 6 =  d) 65 – 13 + 45 + 16 = 

    

 e) 72 – 96 ÷ 12 =  f) 8 × 11 + 12 × 10 = 

    

 g) 54 – 6 × 7 =  h) 63 ÷ 7 × 4 + 55 = 

    

2  a) 77 ÷ (94 – 83) =  b) 103 – (39 + 18) ÷ 3 = 

    

Addition, subtraction, multiplication and division

  1
8 marks
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60 35

97 113

64 208

12 91

7 84
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 c) (46 + 58) × 4 =  d) 200 – (46 + 33) × 2 = 

    

 e) 87 + (132 ÷ 12) =  f) (73 + 39) ÷ (63 – 55) = 

    

3  a) 4 × 52 – 90  =  b) (16 + 44) × 22 = 

    

 c) (38 × 9) – (3 × 4)2 =  d) 92 – (28 + 47)  = 

    

 e) 101 – (45 – 38)2 =  f) (42 ÷ 6) × (67 – 57)2 = 

    

Addition, subtraction, multiplication and division

  3
6 marks

  2
6 marks
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416 42

98 14

10 240

198 6

52 700


